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Note : Attempt any two questions from Part ‘A’, 

four from Part ‘B’ and two from Part ‘C’.  

 Part—A 2 × 20 = 40 

1. Explain the idea of simple linear regression 

between two variables X and Y. Given the 
following information : 

X  = 20, Y = 15, Xσ = 4, Yσ = 3 and r = + 0.7 

Obtain the two regression equations. What is 

the significance of including error term in 
regression model ?  
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2. What is a time series ? What are its likely 
components ? How do you eliminate 

(a) irregular fluctuations (b) trend from a time 
series ?  

3. What is Skewness ? Explain the relationship 
between mean, median and mode of a 
moderately skewed distribution.  

4. (a) What is a normal distribution ? What are 
its properties ?  

(b) Why do we need a standard normal 
distribution ? Explain.  

 Part—B 4 × 12 = 48 

5. Explain the following concepts : 

(a) Acceptance region 

(b) Rejection region 

6. Explain time reversal test. Which index 
satisfies it ? 

7. Explain the concept of Student’s ‘t’ distribution. 
When do we use it ? 
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8. E (x) = 10, Var (x) = 25. Find positive 
value a and b such that E (ax – b) = 0 and 

Var (ax – b) = 1. 

9. (i) Does high positive value of correlation 

coefficient imply causation of one variable 
by the other ? 

(ii) What are the basic properties of correlation 
coefficient ? 

10. Explain the difference between linear 

interpolation method and compound growth 
rate method in inter-census population 
estimation.  

 Part—C 2 × 6 = 12 

11. What is a cost of living index ? 

12. What are the important sources of secondary 
data in India ? 

13. Explain the idea of a consistent estimator.  

14. What is Kurtosis ? What is the nature of 
kurtosis in a normal distribution ? 
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Lukrd mikf/ dk;ZØe (ch- Mh- ih-) 

l=kkar ijh{kk 

fnlEcj] 2020 

bZ-bZ-lh--013 % izkjfEHkd lkaf[;dh; izfof/;k¡ ,oa 

losZ{k.k rduhdsa 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % Hkkx ^d* ls n k s] Hkkx ^[k* ls p kj rFkk Hkkx ^x* 

ls n k s iz'u gy dhft,A  

 Hkkxµd 2 × 20 = 40 

1- nks pjksa X rFkk Y ds chp lk/kj.k jSf[kd izrhixeu 

ds fopkj dh O;k[;k dhft,A fuEufyf[kr tkudkjh 

ij fopkj dhft, %  

X  = 20, Y = 15, Xσ = 4, Yσ = 3  rFkk  r = + 0.7 
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nksuksa izrhixeu lehdj.k vkdfyr dhft,A ;g Hkh 

crkb, fd izrhixeu izfreku esa =kqfV in 'kkfey djus 

dk D;k egRo gS\ 

2- ,d dky  Ük`a[kyk D;k gksrh gS\ blds laHkkoh ?kVd 

D;k gksrs gSa\ vki dky Ük`a[kyk ls fuEufyf[kr dk 

fuokZru fdl izdkj djsaxs \ 

(d)  vfu;fer mPpkopu 

([k)  izo`fÙk 

3- oS"kE; D;k gS\ ,d lkekU; ls oS"kE;iw.kZ vkcaVu ds 

vkSlr] ekfè;dk rFkk cgqyd ds chp laca/ dh 

O;k[;k dhft,A  

4- (d)  ,d izlkekU; vkcaVu D;k gksrk gS\ bldh 

fo'ks"krk,¡ D;k gSa\ 

([k)  gesa ,d izlkekU; vkcaVu dh vko';drk D;ksa 

gksrh gS\ O;k[;k dhft,A  
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 Hkkxµ[k 4 × 12 = 48 

5- fuEUkfyf[kr vo/kj.kkvksa dks le>kb, % 

(d)  Lohd`fr {ks=k 

([k)  vLohd`fr {ks=k 

6- dky O;qRØe dlkSVh dh O;k[;k dhft,A dkSu&lk 

lwpd bl ij [kjk mrjrk gS\ 

7- LVwMsUV~l ‘t’ vkcaVu dh ladYiuk dh O;k[;k dhft,A 

ge bls dc iz;ksx djrs gSa\ 

8- E (x) = 10, Var (x) = 25A a rFkk b ds ,sls 

/ukRed eku Kkr dhft, fd E (ax – b) = 0 rFkk 

Var (ax – b) = 1A 

9- (i) D;k lglaca/ xq.kkad ds mPp /ukRed eku dk 

;g vFkZ gS fd ,d pj nwljs dk dkj.k gS\ 

(ii) lglaca/ xq.kkad dh ewy fo'ks"krk,¡ D;k gSa\ 

10- vUrtZux.kuk dky eas varosZ'ku dh jSf[kd rFkk 

pØo`f¼ njksa dh fof/;ksa esa varj le>kb,A  
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 Hkkxµx 2 × 6 = 12 

11- fuokZg ykxr lwpd D;k gksrk gS\ 

12- Hkkjr esa f}rh;d vk¡dM+ksa ds izeq[k lzksr D;k gSa\ 

13- lqlaxr vuqekud dk fopkj le>kb,A 

14- ddqnrk D;k gksrh gS\ ,d izlkekU; vkcaVu eas 

ddqnrk dk Lo:i D;k gksrk gS\ 
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